Chapter 2 Review Questions with Answers
Conceptual Questions:
Use your knowledge of supply and demand in the competitive market to answer questions 1 to 4 about the market for pizza on your college or university campus.
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1.  Based on the competitive assumptions listed in the chapter, is pizza a perfectly competitive good in your town? Which competitive assumptions are true and which are not? 

2.  Consider the following events.  Assume that the initial supply and demand curves are denoted by S1 and D1.  In each case, determine the final demand and supply curves after the event, and note any movement up or down in price and quantity (Note: it is usually not necessary for both curves to shift)
A. A poor growing season causes a shortage of tomato sauce.  D __D1_   S_S2_
B. Pizza workers suffer indigestion and reduced productivity.  D__D1__  S_S2___
C. A new chicken wings restaurant opens on campus.    D _D2_  S__S1__
D. A winter storm makes traveling and delivery impossible.   D_D2 for pick-up market, D1 otherwise_  S_S2___
E. OPPC (the Organization of Pizza Producing Companies) cuts the overall pizza supply.  D__D1__  S__S2__
F. Pizza goes on sale.  D__D1__  S_S3_

3.  The First Year Class Officers are throwing a pizza eating marathon. They observe that although the participants were initially willing to pay $2 per slice, after three hours pizza consumption has virtually stopped.  Explain in terms of marginal utility why this might be true.

4.  Explain, in your own words, why raising the price of pizza might not increase total revenue for pizza producers.   
5.  Neoclassical Economics assumes that people are rational maximizers of utility.  However, many people donate their time and money to charitable causes.  Are these individuals irrational in the economic sense?  Explain this behavior economically and elaborate on how volunteerism might be an important component of a policy decision.
6.  Differentiate between the following terms: 

A. Income effect and substitution effect


B. Economic profit and economic rent
	  Quantity
	Marginal

Value(height)
	Total

Value
(Sum of MV)

	1
	8
	8

	2
	7
	15

	3
	6
	21

	4
	5
	26

	5
	4
	30

	6
	3
	33

	7
	2
	35

	8
	1
	36


Computational Problems 

7. Given the step function above, complete the adjoining table in pencil or on a sheet of paper. 
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8. A town in the Mid-Atlantic region of the U.S. is trying to determine demand for a municipal snow plowing service. Complete the table below, assuming that the demand curve is linear, and then create an equation to describe the demand curve.  How many plows should the town buy?  At that quantity, what is its consumer surplus? Explain your reasoning. As you can verify in the following table, total consumer surplus can be found in either of two ways: (1) finding the marginal consumer surplus for each plow, and then adding the individual surpluses to find the total, or (2) calculating the total value for all plows purchased and the total spending, then subtracting total spending from the total value.  Check to see that both methods work.  
	  Quantity
	Marginal

Value
	Total

Value
	Price
	Total

Spending
	Marginal

Consumer

surplus
(MV-P)
	total

consumer

surplus
(TV-Spending)

	0
	xx
	xx
	40
	0
	xx
	xx

	1
	210
	210
	40
	40
	170
	170

	2
	180
	390
	40
	80
	140
	310

	3
	150
	540
	40
	120
	110
	420

	4
	120
	660
	40
	160
	80
	500

	5
	90
	750
	40
	200
	50
	550


9.  A school district is trying to determine exactly how many school buses to hire for the academic year and how much it will cost.  The supply of school buses is represented by Ps = 4,000 + 8Qs and the district’s demand for school buses is represented by Pd = 10,000 – 2Qd. 
A. Find the equilibrium price and quantity.  Q=600 P=8,800
B. Find the consumer and producer surpluses associated with this equilibrium.

CS=1/2*(10,000-8800)*600   PS = ½*4800*600.  (triangles)

C. Now suppose that only half of the buses needed by the school district are actually available for hire.  At that quantity, how much would the school district be willing to pay for each bus?  Plug Q=300 into demand:  P=9,400 
D. Identify the new producer and consumer surpluses at this price and quantity.
CS= ½*300*(10000-9400). PS is a rectangle + triangle (or a trapezoid) like a monopoly.  Note that the supply curve is 6600 high at a Q of 300. So PS = [(9400-6600)*300 + ½*2600*300]
E. Using the prices and quantities demanded you found in parts a and c, calculate the price elasticity of demand for buses using the mid-point formula.  ∆Q is 300,
Avg Q is 450, ∆P is 600, and avg P is 9100.  So elasticity is (300/450)/ (600/9100), or about 10.11
F.  Calculate the deadweight loss associated with the inadequate supply of buses in parts C and D.
10.  Let’s consider two alternative policies for providing aid to the poor, cash assistance and housing vouchers.  Housing vouchers act like a coupon that can only be spent on housing, but leaves the recipient with considerable additional money for other expenditures.  Let’s compare the two policies using indifference curves and budget lines. Assume that John Smith earns $1,200 dollars per month.  Housing (on the horizontal axis) costs $150 per unit and a week’s worth of Food (on the Y axis) costs $100.  A housing unit can be thought of as some combination of square feet of space and utilities such as plumbing.

Income shifts the budget line in a typical way but a housing voucher cannot be used for any other good, and is best modeled as a limited amount of free housing followed by a return to the original slope.  In this graph the person with solid indifference curves will be equally well off under either policy. The person with the dotted indifference curves is better off with cash. Given equal government payments, there is no third outcome. 


A. Graph the budget line for John, and choose any utility maximizing point you wish using an indifference curve.  Label the endpoints and determine the slope of the budget line. The endpoints are equal to Income/Px (1,200/150) or Income/Py.  The Slope is –Px/Py.
B. Assume that the government now contributes $300 in cash to John, all else equal. Graph his new budget line, and choose a new utility maximizing point. Explain how the graph demonstrates that John is better off. Income is now $1500, prices stay the same so slope stays the same.
C. Now assume that the government cancels the cash assistance program and instead offers a coupon or voucher worth $300 that can only be spent on housing.  This means he can buy two units of housing using only the voucher, but must pay the original market price for any additional housing. 

So the food endpoint stays the same, the new budget line is flat until Housing reaches 2 units, then will be parallel to the original line. Basically the original line moves 2 units to the right due to the voucher, but since the voucher can’t be used for food the food endpoint can’t rise. 
(1) How will this added funding that can only be used for housing change his endpoint for food? 
The food endpoint stays the same.  Housing vouchers can’t be used for food. (2) With this voucher, how many units of food must he give up in order to afford the first 2 units of housing? 
NONE, the first 2 units of housing are free to the consumer because they can be paid for using the voucher.  
(3) Graph his new budget line given the voucher. (Hint: It will have a different slope for the first 2 units than for any additional units).  How is the budget line with the cash assistance different from the budget line with the housing voucher? The food endpoint doesn’t change with the housing voucher) 
Is John better off with the voucher, the cash assistance, or is he equally well off under either program? 
This depends on the indifference curves. As long as people want more than two housing units with the extra $300, the voucher and cash quantities and utilities will be the same. 
If John prefers to live with a friend and has a very low marginal utility for his own housing, will he be better off with the cash grant or with the housing voucher?  Why? Show this situation on a graph.   
The indifference curves will be very flat, and he might be better off with the cash. See the sample paper’s graphs.
11.  Harry Truck driver pays $2.00 per gallon for diesel fuel (X) and $1 per unit for “Little White Pills” (Y). He has $150 per week to spend on these two goods.  Let’s assume that he originally consumes 50 gallons of diesel fuel and 50 little white pills per week.  Graph the budget line and indifference curve for this result carefully.  Two additional bits of information will help. First, the vertical distance between the pre gasoline tax and post-gasoline tax budget line will be equal to the total revenue from the tax for that quantity of gasoline. Secondly, note how much tax revenue the government would receive at Butch’s original quantity of gasoline, and use the first hint to measure the size of the income tax cut on your graph.  

A. Senator Ghost proposes a 50 cents per gallon tax on diesel fuel, which we will assume raises the price of diesel by 50 cents (it won’t in reality), along with an income tax cut that will increase Butch’s disposable income by $25 per week. Graph the effects of the diesel tax, then on the same graph show the effects of the income tax cut.  See Figure 2-19.  The Little White Pill endpoint rises by 25 units because of the income tax cut. The slope will change from -2 (-Px/Py) to -2.5.  His diesel endpoint will equal $175/$2.50 (I/Px).   
B. With both programs in effect, will Harry buy less fuel, more fuel, or the same amount as before the tax changes?  Will he be better off, equally well off, or worse off. Why?  With both programs in effect, will the government deficit be slightly larger, slightly smaller, or exactly the same? Why?  (Hints: If you graph the tax changes correctly, the final budget line will go through the original utility maximizing point but with a steeper slope.)  If the hint is correct, he will buy less diesel and will be a bit better off. 
12. The graphs below begin to illustrate compensating variation and equivalent variation. On each graph, draw two indifference curves and a new budget line illustrating what change in income would be needed to return to the original level of utility.  Which income change seems larger in your graph, if any? In this case B to C (the income effect) seems larger with the equivalent variation
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